05775-03 K FERNRIEKH | P EEEHN A 3 E+F

7= miiEA

M
e N

g -
MEEE
HETHN
[ EE =2

BR:
05775-03-02500 #1 05775-03-12500 MIEHEHE — N E TR ER,

M -
05240
05241
05260
05885
05885-01
05886
05587
05887-01
05888
05280
05891-01
05880-01

05775-03-01000

05775-03-11000 B 05775-03-02500
05775-03-03400 -~ /

Wm%w@ ;},xj/\
mﬂ&) /3

© norelem www.norelem.com




05775-03 K FERNRIEKH | P EEEHN A 3 E+F

-
05775-03-05000 BE—ﬁ —:&3]
Mool

05775-03-01000 Wl 2 96° 78° 80 500 1000 250 500
05775-03-02500 M 1 93° 76° 150 1200 2500 400 1000
05775-03-03400 EED 1 90° 72° 200 1400 3400 800 1900
05775-03-05000 BB 1 90° 72° 250 2200 5000 1100 3000
05775-03-06000 GED 2 94° 80° 250 3000 6000 1200 3200
05775-03-11000 T 2 96° 78° 80 500 1000 250 500
05775-03-12500 M 1 93° 76° 150 1200 2500 400 1000

05775-03-01000 M5x40
05775-03-02500 Wl 26 |38 28 |40 112 | 62 |22|25 (25| 14 55 521 |173| 61 | 37,5 M6x50
05775-03-03400 IR 26 |42 31 |47 15 9 |26] 3 |34| 175 66 665 |225| 79 | 48,6 M8x60
05775-03-05000 WHl 412 |59 43 |59 194 | 11,4 |39 4 |45] 23 87 901 |277|108| 72,9 M10x80
05775-03-06000 WH 412 |66 413 |67 232|132 | - | 5 |59] 26 8,7 1104 |308|128 | 87,2 M12x100
05775-03-11000 THEW 135 25 16,8 |27 9.3 53 | - | 2 (19| 95 52 385 |112| 37 | 22,8 M5x40
05775-03-12500 HEWM 26 |38 28 |40 112 ] 62 |22|25(25| 14 55 521 |173| 61 | 375 M6x50

© norelem www.norelem.com




